3. Exploded View and Parts List

3-1 Cabinet Assembly - - - - - - - - - - - oo 3-2
3-2 VCR Mechanical Parts (Top Side) ------------------------------ 3-4
3-3 VCR Mechanical Parts (Bottom Side) - - - - ------------------------ 3-6
3-4 DVD Mechanical Parts - -------------------“--“- - 3-8

Notice

You can search for the updated part code through ITSELF web site.
URL; http:/itself.sec.samsung.co.kr

Samsung Electronics

31



Exploded View and Parts List

3-1 Cabinet Assembly

uT01
SAMSUNG

® S.N.A. : Service Not Available

602 (DVD MAIN PCB)

VCR DECK (S.N.A.)

3-2 Samsung Electronics



Exploded View and Parts List

Loc. No Parts No. Description ; Specification Remark

1 Refer to table ; page 3-10 ~ ASSY-PANEL FRONT;

2 Refer to table ; page 3-10 ~ DOOR-TRAY,;

3 AK64-00551A DOOR-SPRING;04-SNYCOM,SUS304,70.32,H7.0,

21 Refer to table ; page 3-10 ~ DOOR-CASSETTE;

22 AC61-62032A SPRING ETC-MASK;SV-C130,SUS 4.4,-,-,--,

101 AK64-00536B CABINET-TOP;SV-DVD440,PCM,T0.5,W430,L.223

153 AC60-12126A SCREW-BH;-,-,FE,FZY,BH,-,-,4*12, - -

155 6003-000275 SCREW-TAPTITE;BH,+,B,M3,L10,BLK ,SWCH101

157 AC60-10063A SCREW-TAPTITE;-,-,L12,ZPC3,+,- M3,-, SWRC

200 AC39-10019A CBF POWER CORD;KKP-419C,H03VVH2-FVDE/KE Other Only
AC39-12022K CBF POWER CORD;Y352160,H03VVH2-F-,BS650 U.K Only

601 Refer to table ; page 3-10  ASSY PCB-MAIN;

602 Refer to table ; page 3-10  ASSY PCB-DVD;

LD601A AC61-00340A HOLDER-LED;X-11,POM(K300),-,-,-,NTR,-

S602A AC61-00341A HOLDER-TR;X-11,POM(K300),-,-,-,NTR,-

TM401B AK61-00320A CONNECTOR BOARD;SV-DVD340/XEFHIPS 94HB, SV-DVD340/DVD-V340 Only
AK61-00308A CONNECTOR-BOARD VCR;SV-DVD440,HIPS 94HB, Other Only

TM402B AK97-00813B ASSY-CONNECTOR BOARD;HIPS 94HB,SV-DVD440 SV-DVD340 Only
AK97-00813A ASSY-CONNECTOR BOARD;HIPS,SV-DVD540A/XEF Other Only
AK97-00814B ASSY-CONNECTOR BOARD;HIPS 94HB,DVD-V340, DVD-V340 Only
AK97-00814A ASSY-CONNECTOR BOARD;HIPS,DVD-V540/XSA,- DVD-V540 Only

uT01 AK59-00008D REMOCON-ASSY;SV-DVD50,SAMSUNG,-,- 44, - - SV-DVD340/DVD-V340 Only
AK59-00008E REMOCON;SV-DVD55,SAMSUNG,-,--,-,-,-,- Other Only

Samsung Electronics 3-3



Exploded View and Parts List

3-2 VCR Mechanical Parts (Top Side)

.\4\
~
7

G527

G520

Samsung Electronics

34



Exploded View and Parts List

Loc. No Parts No. Description ; Specification Remark
B410 AC97-02354A ASSY-LOADING MOTOR;ASSY-LOADING MOTOR,

B411 AC71-00004A WIRE-LOADING;X-11,PVC+ WIRE,T0.38,0.88,

B440 AC60-10515A SCREW-MACHINE;-,-,M3,L3,PH,+,-,- ZPC,-

B448 AC66-00008A GEAR-WORM WHEEL;TS-10,POM,0.8,40,-,NAT,3

B452 AC66-00011A GEAR-FL CAM;TS-10,POM,0.8,59,-,BLK,48.48

B473 AC61-00105A SPRING ETC-PINCH DRIVE;TS-10,SUS304-WPB,

B474 AC61-30180A PLATE-JOINT;X-9,SECC20/20,70.8,--,-,-

G001 AC97-02254A ASSY-CLLINER;4P,CX11-SEM,FOR SLIM DECK MONO Only

AC97-02258A ASSY-CLLINER;6S,CX11-SEM,FOR SLIM DECK Hi-Fi Only

G060 6006-001092 SCREW-ASS’Y MACH;WS,PH,+,M3.0,L6.0,ZPC(Y

G070 AC70-00002A PLATE-GND DECK;X-11,SPTE,T0.3,-,-,-,-

G420 AC66-80142A SLIDER-SUPPLY ASSY;X-9,SUS,-,--,SIL,-

G450 AC66-80141A SLIDER-TAKE UP ASSY;X-9,SUS,-,-,-,SIL,-

G480 AC97-01660A ASSY-HEAD ACE;-,SCORPIO2(TS-10A),VTR-1*2

G510 6006-001075 SCREW-ASS'’Y TAPT,WSP,PH,+,M2.6,L5.0,ZPC(

G520 AC66-00074A LEVER-GUIDE(#9);TS-9,PPS,-,- - - BLK,KHA

G527 AC61-60553A SPRING ETC-GUIDE 9;X-9,SUS304-WPB,0.25,-

G530 AC33-00007A HEAD-FE;-,- HYFHPOO43A, - -

G546 AC66-00005A LEVER-FL DOOR;TS-10,POM,-,-,- -, NAT,-

G555 AC97-02293A ASSY-UNIT PINCH;SECC+SUS304,TS-10,FOR X-

G560 AC97-02215A ASSY-POST #8 GUIDE;SUS303+POM(M90-44)EQ,

K110 AC66-10267A REEL-DISK S;X-9,POM,- - -,-,-,-

K140 AC66-10268A REEL-DISK T;X-9,POM,-,-,-,-,-,-

K182 AC66-30524A LEVER-IDLER;-,POM,-,-,-,-,BLK -

K188 AC66-00039A GEAR-IDLE;TS-10,PET K3372,0.5,-,-,NTR,28

K240 AC66-00035A LEVER-TENSION ASS'Y;TS-10,SECC E20/20+SU

K248 AC61-00107A SPRING ETC-TENSION LEVER;TS-10,SUS304-WP

K250 AC69-00104A BAND-BRAKE ASS'Y;TS-10,-,-,-,-,-,-

K330 AC66-30550A LEVER-S.BRAKE ASSY;-,POM+SUS,-,-,- X-9

K340 AC66-30549A LEVER-T.BRAKE ASSY;-,POM+SUS,-,-,-, X-9

K350 AC61-00106A SPRING ETC-BRAKE;TS-10,SUS304-WPB,-,-,-,

K470 AC66-00020A SLIDER-FL DRIVE;TS-10,SECC ,T1.0,-,-,SIL

K490 AC61-00120A HOLDER-FL CASS. ASS'Y;TS-10,-,-,-,-,-,-

K502 AC61-60561A SPRING ETC-FL.LEVER-LR;X-9,SUS304 WPB,0D

K530 AC66-00034A LEVER-FL ARM ASS'Y;TS-10,--,-,-,-,--

K546 AC61-50658A GUIDE-CASS. DOOR;X-9,POM,-,-,-NTR
Samsung Electronics 3-5



Exploded View and Parts List

3-3 VCR Mechanical Parts (Bottom Side)

G542

Samsung Electronics

3-6



Loc. No

B456
B458
B460
B462
B464
B468
B475
B478
B484
B488
B500
B560
B570
(G542
K200
K221
K222
K225

Parts No.

AC66-00076A
AC66-00077A
AC61-00338A
AC60-10517A
AC66-00075A
AC66-00017A
AC66-00085A
AC66-00016A
AC66-00078A
AC97-02195A
AC97-02196A
AC81-00004A
AC60-10514A
AC66-60051A
AC61-21012A
AC66-20581A
AC60-30306A
AC66-00006A

Exploded View and Parts List

Description ; Specification Remark

GEAR-JOINT 1;X-11,POM(K300),-,-,-,BLUE,-
GEAR-JOINT 2;X-11,POM(K300),-,-,-,BLUE,-
BRACKET-GEAR;X-11,SECC,T0.8,W20,L.20,NTR,
SCREW-TAP TITE;-,-,M2.6,L5,PH,+,-,-,ZPC,
SLIDER-CAM;X-11,SECC ,T1.2,-,-,SIL,-
LEVER-PINCH DRIVE;TS-10,SECC E20/20,1.0
DAMPER-CAPSTAN;X-11,POM(M90-44),- - --,
LEVER-TENSION DRIVE;TS-10,SECC E20/20,1
GEAR-LOADING DRIVE;X-11,POM(K300),-,-,-,
ASSY-LEVER LOADING S;SECC+POM+SUS X-11,F
ASSY-LEVER LOADING T;SECC+POM+SUS X-11,F
MOTOR-CAPSTAN;THRUST END PLAY-0.2,MR-FG
SCREW-CAPSTAN;-,- M2.6,L6 PH,+,-,-,- -
BELT-PULLEY;-,5CM-70,2 * 2,-,71.3,- X-9
HOLDER-CLUTCH ASSY;X-9,ABS,-,-,- BLK,-
GEAR-CENTER ASSY;X-9,POM,M=0.5,-,-,GRY.-
FASTENER-WASHER SLIT;-,-,ID2.1,0D5.0,T0.
LEVER-UP DOWN;TS-10,POM,-,-,-,-,NAT -

Samsung Electronics

3-7



Exploded View and Parts List

3-4 DVD Mechanical Parts

HQILDY

Samsung Electronics

3-8



Loc. No

H102
H103
H104
H105
H106
H107
H108
H109
H202
H203
H204
H205
H206
H207
H209
H210
H211
H212
H241
H900
H903
H904

Parts No.

AH66-00111B
AK66-00042A
AK97-00608A
6602-001076

AK66-00041A
AK66-00045A
AK63-00101B
AK92-00328B
AK73-00005B
AH61-50327A
AK66-00043A
AK66-00044A
AK61-00032A
AK31-00014A
AK64-00491A
AK31-00005A
AK97-00638A
AK61-00253A
AK41-00156B
6003-001157

6001-001370

6002-001086

Exploded View and Parts List

Description ; Specification Remark

CLAMPER-ASSY;DP-5,POM,-,-,-,-,BLK,-
GEAR-PULLEY;DP-15,POM,-,-,- WHT,-,-,-
ASSY-MOTOR LOAD;-,DP-15,-
BELT-RECTANGULAR;CR,T1.2,4.3%,1.2X25.1,B
GEAR-TRAY;DP-15,POM,-,-,- WHT,-,-,-

SLIDER HOUSING;DP-15,POM,-,W17.8,L90,WHT
TRAY-DISC;DP-15,ABS,-W120,.186.3,-,GRY,
ASSY PCB-DECK;DP-15,COMBO
RUBBER-INSULATOR;DP-15,BUTYL,=12,HS30,H
SHAFT-P/U;DP-3,SUS,L84.7,0D3,-,-,-

HOLDER-CAM SKEW;DP-9,POM,,-,-,- BLACK -
MOTOR SPINDLE;DP-15,3000RPM,- -,-,-

MOTOR-FEED ASSY;-,DP-9,- 7,777y,
ASSY-PICK UP;-,SOH-DT2,TRINO ASSY PICK U

FFC-PU;DP-15,-,FFC,24,T0.3,RIGHT
SCREW-TAPTITE;PWH,+,B,M2,L6,ZPC(YEL),SWR
SCREW-MACHINE;CH,+,M1.7,L.3.0,ZPC(YEL),SW
SCREW-TAPPING;PH,+,B,M1.7,L5.0,ZPC(YEL),

Samsung Electronics

39



Exploded View and Parts List

MODELS

1

2

21

601

602

SV-DVD340/XEF

AK97-00717B

AKG64-00557A

AKG64-00556C

AC92-01553P

AK92-00414A

SV-DVD540A/XEF

AK97-00504T

AKG64-00369B

AKG64-00368D

AC92-01553A

AK92-00247D

SV-DVD545/XEF

AK97-00542K

AK64-00433D

AK64-00432D

AC92-01553H

AK92-00247D

SV-DVD640/XEF

AK97-00504W

AK64-00369B

AKG64-00368F

AC92-01553A

AK92-00436A

SV-DVD340/XEB

AK97-00717B

AKG64-00557A

AK64-00556C

AC92-01553P

AK92-00414A

SV-DVD540A/XEB

AK97-00504T

AK64-00369B

AK64-00368D

AC92-01553A

AK92-00247D

SV-DVD545/XEB

AK97-00542K

AK64-00433D

AK64-00432D

AC92-01553H

AK92-00247D

SV-DVD640/XEB

AK97-00504W

AKG64-00369B

AKG64-00368F

AC92-01553A

AK92-00436A

SV-DVD340/XEU

AK97-00717C

AK64-00557A

AK64-00556C

AC92-01553Q

AK92-00414A

SV-DVD540A/XEU

AK97-00504U

AKG64-00369B

AKG64-00368D

AC92-01553B

AK92-00247D

SV-DVD545/XEU

AK97-00542J

AKG64-00433D

AKG64-00432E

AC92-01553J

AK92-00247D

SV-DVD640/XEU

AK97-00504X

AKG64-00369B

AKG64-00368F

AC92-01553B

AK92-00436A

SV-DVD340/XEUI

AK97-00717C

AKG64-00557A

AKG64-00556C

AC92-01553S

AK92-00414A

SV-DVD540A/XEUI

AK97-00504U

AKG64-00369B

AKG64-00368D

AC92-01553C

AK92-00247D

SV-DVD545/XEUI

AK97-00542J

AK64-00433D

AK64-00432E

AC92-01553K

AK92-00247D

SV-DVD640/XEUI

AK97-00504X

AK64-00369B

AKG64-00368F

AC92-01553C

AK92-00436A

SV-DVD340/XEN

AK97-00717C

AKG64-00557A

AK64-00556C

AC92-01553S

AK92-00414A

SV-DVD540A/XEN

AK97-00504U

AK64-00369B

AK64-00368D

AC92-01553C

AK92-00247D

SV-DVD545/XEN

AK97-00542J

AK64-00433D

AK64-00432E

AC92-01553K

AK92-00247D

SV-DVD640/XEN

AK97-00504X

AKG64-00369B

AKG64-00368F

AC92-01553C

AK92-00436A

SV-DVD340/XEC

AK97-00717C

AK64-00557A

AK64-00556C

AC92-01553S

AK92-00414A

SV-DVD540A/XEC

AK97-00504U

AKG64-00369B

AKG64-00368D

AC92-01553C

AK92-00247D

SV-DVD545/XEC

AK97-00542J

AKG64-00433D

AKG64-00432E

AC92-01553K

AK92-00247D

SV-DVD640/XEC

AK97-00504X

AKG64-00369B

AKG64-00368F

AC92-01553C

AK92-00436A

SV-DVD340/XEE

AK97-00717C

AKG64-00557A

AKG64-00556C

AC92-01553S

AK92-00414A

SV-DVD540A/XEE

AK97-00504U

AKG64-00369B

AKG64-00368D

AC92-01553C

AK92-00247D

SV-DVD545/XEE

AK97-00542J

AK64-00433D

AK64-00432E

AC92-01553K

AK92-00247D

SV-DVD640/XEE

AK97-00504X

AK64-00369B

AKG64-00368F

AC92-01553C

AK92-00436A

SV-DVD340/XEG

AK97-00717C

AKG64-00557A

AK64-00556C

AC92-01553S

AK92-00414A

SV-DVD540A/XEG

AK97-00504U

AK64-00369B

AK64-00368D

AC92-01553D

AK92-00247D

SV-DVD545/XEG

AK97-00542J

AK64-00433D

AK64-00432E

AC92-01553L

AK92-00247D

SV-DVD640/XEG

AK97-00504X

AKG64-00369B

AKG64-00368F

AC92-01553D

AK92-00436A

SV-DVD340/COM

AK97-00717C

AK64-00557A

AK64-00556C

AC92-01553S

AK92-00414A

SV-DVD540A/COM

AK97-00504U

AKG64-00369B

AKG64-00368D

AC92-01553D

AK92-00247D

SV-DVD545/COM

AK97-00542J

AKG64-00433D

AKG64-00432E

AC92-01553L

AK92-00247D

SV-DVD640/COM

AK97-00504X

AKG64-00369B

AKG64-00368F

AC92-01553D

AK92-00436A

SV-DVD340/XET

AK97-00717C

AKG64-00557A

AKG64-00556C

AC92-01553S

AK92-00414A

SV-DVD540A/XET

AK97-00504U

AKG64-00369B

AKG64-00368D

AC92-01553D

AK92-00247D

SV-DVD545/XET

AK97-00542J

AK64-00433D

AK64-00432E

AC92-01553L

AK92-00247D

SV-DVD640/XET

AK97-00504X

AK64-00369B

AKG64-00368F

AC92-01553D

AK92-00436A

SV-DVD340/EUR

AK97-00717C

AKG64-00557A

AK64-00556C

AC92-01553U

AK92-00414A

SV-DVD540A/EUR

AK97-00504U

AK64-00369B

AK64-00368D

AC92-01553E

AK92-00247D

SV-DVD545/EUR

AK97-00542J

AK64-00433D

AK64-00432E

AC92-01553N

AK92-00247D

SV-DVD640/EUR

AK97-00504X

AKG64-00369B

AKG64-00368F

AC92-01553E

AK92-00436A

SV-DVD340/XEO

AK97-00717C

AK64-00557A

AK64-00556C

AC92-01553U

AK92-00414A

SV-DVD540A/XEO

AK97-00504U

AKG64-00369B

AKG64-00368D

AC92-01553E

AK92-00247D

SV-DVD545/XEO

AK97-00542J

AKG64-00433D

AKG64-00432E

AC92-01553N

AK92-00247D

SV-DVD640/XEO

AK97-00504X

AKG64-00369B

AKG64-00368F

AC92-01553E

AK92-00436A

DVD-V340/FES

AK97-00883C

AKG64-00369A

AKG64-00368A

AC92-01553wW

AK92-00416A

DVD-V540/FES

AK97-00801F

AKG64-00369B

AKG64-00368G

AC92-01553G

AK92-00413A

DVD-V340/AFR

AK97-00883D

AKG64-00369A

AKG64-00368A

AC92-01553V

AK92-00416A

DVD-V540/AFR

AK97-00801E

AK64-00369B

AK64-00368G

AC92-01553F

AK92-00413A

3-10

Samsung Electronics




